EANRAROESIERT —

ZN—BISH—F

201311 A2H

() SEES1H

Gl Y >%3mtEt 5007 T EE

‘ [Riz] ¥

‘ [REBE] — |2 (&) 12000 B

[A&4£] 1 7% :6,700,000 @ 2 3 :2,700,000 @ 3 3 :1,700,000 @ . 4 & :1,000,000 @ 5 j& :670,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
% = : - AR
1 NEEEUELE 3 56_5(3)%& 1.(0_8).5 7-7 34.3]93.8| 3 472 ;g%; (E®)
L1414 F% v bV BITE)—F (-2) AESHt FTEBAN-Z2FtEr%
_ FHRB_Z 1:08. ) 4. . BEfE— (ER)
2|7|13| 7 A hYAR-7 O] Rl 750 R e B - o
R:TRIAY L= By ITIUT =i
- i 4 | FGAA 1:08.7 7-7 34.6| 91.6 | 10 | 456 | AXRFE (i)
3|5|9|@=27-Y77> 55.0 (1 1/4) () |BHE
R:FA>T7747 B:L—TFKRKFZL Tais
5 s o S 43 | WiksEH 1:08.7 1-1 35.2| 91.5 | 11 | 480 |/I\EfRiL ()
4|5[10| I ¥R MFF XL A53.0 (NF) Co) |TrAb 516557
R4 TIxTv— BRCFNILL BhEREMXSHIVAT RS
\ . jt 3 | ENEAE 1:08.8 2-2 35.1] 90.4 | 9 454 | EEBFIAL (i)
5(8[15| HYF 71—~ 0 (112) () |HEEH
ARV TT B:UZXbL—23> 5B EE
o 4 4 | FAE#Hm 1:08.8 14-13 [ 34.1| 90.8 | 4 478 | RBF (ER)
6/1]2[@®AY—FrERNL 55.0 (7€) (o) | KIHEE (5
L ZZHh<2KR B:ZY—Fa1—h =R77—L
5 it 4 | REERTT 1:08.9 4-2 35.1189.3| 8 444 | ERIBEE ()
7 4| b=FRKTT2UT 55.0 (3/8) (+4) wBNE (1)
LA a39R=5— B bh=—FKI7E-L BT THhIHS
o o4 | EEBE—ER 1:09.0 5-5 35.1| 88.3 | 15 | 462 |REXE (Ei#)
g1 @7 LAPEY 5.0 (172) Ge) | B EFH-Tu—g-x. 2=
R:TRIAYL—> B:ZAXTHLRb AUFLTr— L
NN - RERE T :09. - . . PRIt (ER)
9 | yrxo5-va 3 e (17(;970) 11-9 | 34.7| 8.4 | 6 (i?i) s
R:F15>8) B:Jr——X ZAREHS
3 e 4 4 | AlES 1:09.1 7-13 34.9| 87.3 | 2 506 | PARBUEL (3ER)
100N 7 422172 EE R 57.0 (z7E) (+10) g!}iﬁi%
XL ThANAN BV TA—FHFIX MESS
S NN B3| AVRTEGR 1:09.3 7-10 35.1| 85.2 | 13 | 430 |#KEE (ER)
1 5 13 '777/ V) 54.0 (11/2) (+2) VRZ’SEK
LHATAT v — BRAFA M) —ZE— Hte
S o H 2 . = REER (EX)
12 6l ELUT Ly R H 6 EEi 1(;1&::) 13-12 | 34.8| 85.3 | 12 (gg) e
S hUAATAF - BT TIN T35y NS
JlExRE :09. - . . FHEE—BR (i)
1312 |\ FLT 4TI 3 e (/(\)gﬂs 14-15 | 34.6| 85.4 | 5 ;1;8) e
RHAL b= BiELYTTy Y e
— S RIERDI :09. - . . FHE—BR (X#)
13l8li6l FvvEYHEL [B] 44 At 1(@05%)3 5-5 35.3| 85.2 | 14 (zt_ff) per
LAY TH LT — BiTAAT Tr=—kNTr—L
3 SIS 4 3 | BOAIEM 1:09.4 11-10 35.1| 842 | 7 456 | BERE (ERH)
15 7[14| ¥ 37 F >/ b 54.0 (7€) ca | )
R:vavrehr7 B:FzV-Ky 7 AR —8l
.. oL ff— _ _ _ — — EHEE (E#)
% 3 Y=o — "0 5.0 (54 (i?g) e
R:2F4T—IVE B:v~v=>hHILT—I SRS
@ 71 L
) 45.9-35.0
NA>&4 L | 11.9-10.7-10.9-11.3-11.2-12.5
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= 10(13,15)4(11,16) (5,7,8,9) (14,1)6(2,12) 3
40—+ — 10(4,13,15) (11,16) (8,9)1(5,14)6(7,2)12
[ N3
BB 8 640M 714K 8-13 380M e E 4-7 4108 JEHE 8-9-13 9,730M
8 B 8 240M 8-9 3,380H B = 8-13 930M B 8-13-9 50,720
13 130 9-13 1,760M B H 8-13 2,270
9 690M
ABICOVWTRHDTERERRODLDE, THERLE,




